TUBE CLAMPS - DIN 3015 STANDARD - PART -1
Rail Mounted Standard Series Tube Clamps - PCL RN

H2

- HEXBOLT

-—— TOP
PLATE

[

—— CLAMP
HALVES ‘

i
o

H1

—

L
R
RV .-

H3

H H RAIL NUT
1l N

One Set = One Top Plate + 2 Rail Nuts + 2 Clamp Halves + 2 Hex headed Bolts

DIN/VE
GROUP

PIPEOD

dia=d T s G H1 H2 L L1

H3

L3

Bolt Size

6

6.4

8 4.0 3.0 04-06( 13.0 40.0 20.0 35.0

9.5

10

12

13.5

250

M6X 30

12.7

135

14

15 4.0 3.0 0.4-0.6 16.0 45.0 26 42

16

17.2

18

13.5

25.0

M6 X 35

19

20

21.3 4.0 3.0 04-06( 18.0 50.0 33 50

22

25

135

250

M6 X 40

26.9

28 4.0 3.0 04-06( 20.0 53.0 40 59

30

135

250

M6 X 45

32

33.7

35

38 4.0 3.0 0.8-1.0( 29.0 70.0 52 71

40

42

13.5

250

M6 X 65

48.3 4.0 3.0 0.8-1.0( 31.0 75.0 66 86

50.8

135

250

M6 X 70

60.3

63.5 4.0 3.0 0.8-1.0( 46.0 105.0 94 121

73

76.1

13.5

250

M6 X 100

www.vehydraulics.com | www.tubeclampsfittings.com | www.flanges-valves.com

PAGE -13




